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KenKen  A Japanese Number Puzzle

• Fill in the grid so that each column and row contains the digits 1 to 4. Each digit can be
used only once in each row or column.

• In the puzzle there are sets of squares with heavy black lines around them, these are
called ‘cages’.

9 x• Within each cage is a number in the top corner and the operation that
will lead you towards the correct digits to use to make this number.

• For example, a three square cage with ‘9 x‘ means that you need to
write three digits from 1 to 4 that multiply together to make 9.
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